
Synthetic Substitution 
Practice

 

Solutions



f (2) =f (x) = x3 − 7x2 + 7x +15 9 sothisgraph containsthepoint2,9

2 1 7 7 15

T
Tremember

thatthis
resultisjustthe
y coordinate



f (x) = x3 − 7x2 + 7x +15
Factor using Synthetic Division

1 7 7 15

IT
162 8 15
1 x 3 x 5

intercepts at
C1,0 3,0 and5,0



f (x) = 2x3 −11x2 + 2x +15
Factor using Synthetic Division

2 11 2 15

I x ̅
V
1 2 2

13 15
1 2 3 x 5
intercepts at

4,0 3,0 5,0



f (x) = x3 − 3x − 2

Factor using Synthetic Division

2 1 0 3 2

ITV
2 42 1

x 2 1 x intercepts at 1,0
and 2,0



f (x) = x3 − 2x2 + 5 Show that there is an x-intercept between 
x = –2 and x = –1 

1 2 05 1 2 0 5

8 T 3

1 2 11 1,2

between

they II o
togetfrom y 11 to y 2


